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N A3 7 200 g | 64 — | BhA FoER L 10 ke 2, 484 864
LA = B 250 g 64 — || 225 — - — —
ZEDR & [ 200" g 64 32 | #E — - — —
5 A% D AL 200 g 86 — | BF BWERAEE) | & B 10 ke 4, 860 2, 808
- FhE = B 8 ke 7, 020 2,160 | JIfREAE Z B | T.5ke 2, 700 1,404
Ly AEL K BR | 180 & 129 86 | Eiig E B 350 g 561 378
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PNT F & 10 ke 1, 080 648 | T—rzrAmYy | #H 9 ke 5, 400 3, 780
FEEEIC A A AbHEE 10 ke 1, 296 540
E< & B 15 ke 1,080 | 324
Y BOE 10 ke 1, 080 540
R * B 10 ke| 1,620 216
TP T IR 5ke| 1,728 —
‘%3 = B 5. ke 1,080 864
k= b = IE 4 ke 1,080 -
B — = 5E 150 g | -~ 64 43
o Lx bvE | 10ke| 2,160 1,728
rERE T & 10 ke 2,484 2, 160
A LWzt = 100 g 140 75
ESeYyl H 1 ke| 20,520 10, 800
LT £ B 100 g 54 37
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£FE AL = 1 kg 1,836 1,404 | HEV 7 F Y 1 ke 2, 592 972
WES AL RV 1 ke 1, 652 1,317 || HHs J VT 1 ke 1, 080 432
7 e 1 ke 2, 160 324 | #5 = = 1 ke 2, 160 972
P E _lke 2, 160 259 | A=Hi — — — —
AT X B 1 ke 810 216 | FY AV & & 1 ke 3, 456 1,080
ANAALTT — — — — | BTV~ AiEE 15 226 54
ENeT m B 1ke 1, 620 162 |
EHA T iE 1 ke 1,026 540
fEF a (i 1ke 2, 160 1, 404
INTE R 1 ke 1, 620 324
Ty A8 K 1ke 1,296 572
xR 5B 1ke 3, 240 1, 080
VA A 1 kg 1, 080 378
BB 1 ke 1,944 1,080
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